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Thinking Conditionally

@ New data & information may affect our @n uncertainties

@ (Conditional probability: )how to update our@
. -——————-——

@ All probabilities are conditional! (explicit/implicit background

info or assumption)—
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Definition of Conditional Probability

Definition
If A.and B are events with P(B) > 0, then the conditional probability
of A given B, denoted by P(A|B), is defined as

P(A|B) = %.

P(A): prior probability of A.
— T

o
° P(A|?: posterior probability of A.

u&a‘u/‘x]co,
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. . . Oamle s n
Example: Rolling the Fair Die = " " S<ti2.5¢45¢]

IZZI 3
O Palg) = PA®B) PB)= s =7 =5
@
P/ P(/‘MZ):JAL;—Z—AJ
B S (s| 6 =3
T =3

nn =/ ‘,55
Rolling a fair die. Let A be the event that the outcome is an odd

numbér, i.e, A= {1,3,5}. Also let B be the event that the outcome
is Ies;_wu_oi i.e, B=1{1,2,3}. Find P(A|B) and
~————

P(B|A). (BnA) J
—— Opan) = £ piA) = A= p L
. P@nk)=pang) = %
= 2 2
s =5 > $=pg)
- ———
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o

Conditional Probability is Probability' '
TORN AL, o

ooz Pip)=0
° A )
B 94) = Fow)
@ Condition on an event E, we update our beliefs to be Consistent
W|trh_th|.s knowledge. - 3 RUS s 1-F W)
@ P(:|E) is also a probability function with sample space S:

"+ 0< P(|E) <1 with P(S|E) =1 and P(J]E) = 0.

0<p(- )<

7is)=1

> If ev;e(?ts A1, Ao, ... are disjoint, then £ FAoB)
P(szlAj‘E) = Zj:l P(Aj|E). _ S

> P(A|E) = 1 - P(A|E). SPAItTw)

» Inclusion-exclusion: ~%PcAng)

P(AU B|E) = P(A|E) + P(B|E) — P(AN B|E).
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Conditional Probability: Chain Rule

pPAis) = —%%j‘ =2 PUAIR) pBD =PhB) = pi)pislA)

2 PlALOA) = PA)  pib.A)
2 Plharnks) = pikinss) pids|ans.

Event A; N Ay N Ay

P
= Pch) Pts() . 2k (inm,)
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Conditional Probability: Chain Rule
LMe Graph

DA, e
"

Theorem

For any events Ay, ..., A, with positive probabilities,

P(A1,...,A,) = P(A1)P(Az|A1)P(As|A1, A) - - - P(AL|As, . .. ’A”:L)‘

(ﬂa P(A An) = Lgpddn) T Pl (4) < - ‘c(vg f(A"/Af/"A‘ILQ
— .
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Thinking Conditionally

e Conditioning :a powerful problem-solving strategy

@ Reducing a complicated probability problem to a bunch of
Iszi?plfer conditional probability problems
o Fi

rst-step analysis) obtain recursive solution to multi-stage
T ees
problems

e Conditioning is the soul of statistics!
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The Law of Total Probability (LOTP 3= Ulens,)

S Bl s QL 2T
AAVA

6
ﬁ 54, :5‘ PA;)pis |4

A A A A

N
» BN

Theorem

Let Aq,..., A, be a(partition éf the sample space S (i.e., the A; are
disjoint events and their union is S), with P(A;) > 0 for all i. Then

v
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Outline
PAIB)

P(A/B/IC) Y
© Independence of Events P /E’/C) W

PCA b /C) )<

P (A8 ,o/)<
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Independence of Two Events

Definition
Events A and B are independent if

P(AN B) = P(A)P(B).

If P(A) > 0 and P(B) > 0, then this is equivalent to

0

P(B|A) = P(B)
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A./} e A.B dgat,
Independence vs. Disjointness

Aag)=o
p(A(B)=PA) Lidnelze

0
. -7 2
SCLNPLQ S}?a,(e S:—{‘, 2,3 1077 ‘ A/'B )S /%6}
Rolling a fair 10-sided die. Let A be the event that the outcome is
less than 7, i.e, A= {1,2,3,4,5,6}. Also let B be the event that the
outcome is an even number, i.e, B = {2,4,6,8,10}. Are A and B
,’\V—

independent R (Al b
2" P(A)‘(sl 2 o =06
P@) - L. £
T

. _[Anpl J
P(A”ﬁ)“/[?r? F -~ 0,3 - U.@)(H-f 1[%/\/1)15)

=) A and B are Nde penden
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Independence of Complementary Set
w:L.O G’ )

PCA) >0, big)>0
Without LA’KS J’f wae«,

. ) =7 AL <ps)
V PBIA) = p()
Theorem -

2 pe(A) = 1-PBja)
/ - pB) = pia®)
If A and B are indepéndent, then A and B€ aPe/ independent, A and

B are independent, and A° and B¢ are independent.

) (§]

Ziyu Shao (ShanghaiTech) Lecture 2: Conditional Probability

September 29, 2024 16 / 96



Independence of Three Events

Definition
Events A, B and C are independent if all of the following equations
hold:

P(AN B) = P(A)P(B)
P(ANC) = P(A)P(C) \. Phrwse Mepeidense

—_— \\_‘_\
P(BN C) = P(B)P(C)

P(AN BN C) = P(AP(B)P(C).

Ziyu Shao (ShanghaiTech) Lecture 2: Conditional Probability September 29, 2024 17 /96



Pairwise Independence a?];d Independence
(A)=p)=% P(c) = PL (AnB) U (A )]

@ ABc Paywise  indepederc. = PlAaB) + p (A“ne°)
Pihns) =6 ) pe) e = PAP) +PCAC). pusC)
PhArc) =PAMB) =% = pt)-pic) v A2 S 4

Lbac) = P(Aag) = 7 =ps). V.
ConPS|der) two ?alr), m%e;%%d’éﬁ% coln to

@ A: the event that the first is Heads. plclas)=|
@ B: the event that the second is Heads.

N

@ C: the event that both tosses have the same result.

— ’_\—_—
G bvihaBac) = Pwnas) pCc|hne)
= P(Aag) [
;2
=% S LY
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Conditional Independence

V() =pl12)

Definition
Events A and B are said to be conditionally independent given E if:

P(AN B|E) = P(A|E)P(BIE).

/PSLA/? B) = %) Pe)
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Example: Conditional Independence =%

O PlAnA (F ) = plATF) PlhAsF)
Plainm | FSO = PR piaipe)
PULIE)PE) + P A F‘)P(fc) PLA /'/L) + PLA') ple)

o3 4 3h -5 b
% We choosé either a Tair coin or 3 biagéd coin (w p. 3/4 of

landing Heads). (3) piana, ) X puaamiz)p PRI i )
@ But we do not know which one we have chosen and we flip it

twice. = PR pikE) pIP) t PN it drgy
e Event F: “chosen the fair coin” Lot 3
= i’ Y + 2 ﬁ,}L
@ Event A;: “the first coin tosses landing “Heads”
e Event A,: “the second coin tosses landing Heads" :
Pav;
*(¢)
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Example: Independence =% Conditional

Independence AL B are ndependss
GD'W"‘ E > /4 &ndg

9) ™M
@ Only Alice and Bob call me. are. NOT  Ideptden.

o Each day, they call me independently.
]

P(BIAR) -

@ Event R: “Phone rings".
. Thone Mhes

@ Event A: “Alice call me"

o Event B: “Bob call me”
_——
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Example: Conditional Independence Given E vs.
E PCwnA(ES) =p(w(ED piales)

PLwnb(E) + PlulE) pinfe)
@ There are two classes: good & bad.

@ Good: students get grade A with working hard.

@ Bad: students get grades randomly regardless of their efforts.

@ Event E: “Class is good”.

e Event W: "Students working hard".
- o me e WS TR

@ Event A: “Students receive grade A".
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(Conditional) Independence Simplifies Computing
independen Dlines -omputing

o If events A, Ay, ..., A, are independent, then

A C ——
S A4,
P(AN AN - NA,

~PCa0 a) = P(/&,n,ﬁn i) = [FPAE)PR) pFy
P(ALUAU -- UA n)=1—]][1—- P(A)]

j=1

N ;n- PLA:)
o If events Ay, Ay, ...,'A, are conditional independent given event
E, then -

P(AiNAN---NAE)= H P(Aj|E)

P(A;UA U - uAyE_l—H[l— (AJ|E)]

=t
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Outline

Lotp

t hdepdene.
© Bayes' Rule
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Bayes' Rule

PlAnB) = PA) peslA)
2p@)-pAls)

Theorem
For any events A and B with positive probabilities,

P(B|A)P(A)
P(A[B) @
\PB)
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Bayes' Rule Learnlng Perspective
lo'ia. A] - th{ [EI f‘ur Co'a ' [/H/ PLT) 0.5

Ar= ' the com ‘s busd om ' i PCH/ =08 5 pcT):ua2
Theorem b= “HHHN'L | PlBIA) = @it . PBlA)

bev!
A represents cognition, B represents datay datax~then = @3t
P /4, )4 PBiA,
H lﬂlﬂﬁe‘v‘;

- oo oclran

«—/_

PR—

o P(A): Prior Cognition /H/j’{‘
Likelihood (Jnfo of data given prior cognition)
—_— —_—

o P(A[B): Posterior Cognition

v

Bl = HTH‘[ v ) PL#/AI) :@‘{/H. ;[OA){)L > P(B(/AJ/
] (s =08%0d" - (,0:16}2
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\ Pt (A) PLAD
Inference & Bayes' R/ PAL(B) = _‘_Pz)*
l

A NB
botp P@IAL pre)
s e —

A,NB

52 P pas

Theorem

Let Ay, ..., A, be a partition of the sample space S (i.e., the A; are
disjoint events and their union is 5), with P(A;) > 0 for all i. Then
for any event B such that P(B) > 0, we have

P(A')P(B|A)
PAIB) = A P(BIAY) + - + P(AP (BlA,) P&/
( \/
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1 1 \ < lr
Inference & Bayes’' Rule A1+ " @ is fr

FXmple - / A o iy biuged
I B . dotaf ofo

fos.(.'z, lohg
PAs) ; pinip),

e

Zf\f%(e : W)(f‘nm% A /7!{+9ma-y /07054&.17 ] (MAP)

MLE . f PLA
CALIB) > p (4 |
M/‘L_S'E_ I} Pl //3) Chrse A
<
A
DA, 1B ELB[A:)EtA) =
(o D/A ?
J(PUH&)) ST Pidi) g L{B) >, ) v chisse 4,
Tyl Peals) X A,

- 'PLB(A!) iy

:
Y\ Pt b w) ). Pli(e) ~Plhslg) > 0
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. Bt A Y the chosen (9 (and i
Example: Random Coin >

O pr)-t s rg =%,

F N t e pl\ﬂm the )é’)‘ (o0

PCEIA) T
Oty - PALIPE P 4
a PUNTE) piE) + PAFD pE) &AL (2] 4

You have_gn_emi/n, and one biased coin which lands Heads with
probability 3/4. You pick one of the coins at random and flip it three
times. It lands Heads all three times. Given this information, what i

the probability that the coin you picked is the fair one?
——m

£
:3:<“.£ <

A PEUA) = FPEFA) = 4? >p(r(4)
/W“r{’ Foferente rje - => We prkel <he

Diased (ow.
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Example: Random Coin
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Example: Communication Channel

message m ! E(m)
ice
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Example: Communication Channel @

Clont Ay " Mvie Seat o'’
B : “Bob receMef g it
D PA) =05 S pal) o
@) PCH(A) =045 5 (B |AF) =008 5 _
Suppose that Alice sends only one bit (a 0 or 1) to Bob, with equal
probabilities. If she sends a 0, there is a 5% chance of an error

occurring, resulting in Bob receiving a 1; if she sends a 1, there is a

5% chance of an error occurring, resulting in Bob receiving a 0.
Given that Bob receives a 1, what is the probability that Alice
actually sent a 17

obyece PCA,(B,)

PBib) ﬂu‘\-) )
@ PCAR ) = — e
?Lg//A1)~/(A1) -+ P(ﬂ, /,{IC) P(A[C)

J 480

= 0.90
988 05 + dofS- g -
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. Clent P il i "
Example: Bayes Spam Filter G=tan ematis o g

- L
F T oan ema)'L uith '7,39
vy Cdaf“)

4
CD PlG) =08 ; P(GTC) =0.2

m:m./,-, v,

e fdu
@ PAG)= 0l PG D=051 Ulelhod n&lE)
A spam filter is designed by looking at commonly occurring phrases
in spam. Suppose that 80% of email is spam. In 10% of the spam
emails, the phrase “free money" is used, whereas this phrase is only
used in 1% of non-stail has just arrived, which
does mention “free money”. What is thmis spam?

——

: PHG)pi&) + PAHGE )P ) I XoZ +0.0) x02
b?rf,ﬂww,

80
) 0 xo 8 S g, Ro.906
PR p &) ’(?W 2§ 4o >/ C—
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Nevert G = ' this epmuc & o Jpam’,

Fioev '
tu*(;h ‘f'b’\:e W°7

= ‘7214

(Aave
Example: éayes Spam Filter

P(& F‘/ﬁx-)
053 = 5
P( CT ?UF“)

“
n .

Y PR/l GIPLG)

Py FlG ) pay
PN ,J\_,.\__,
(ﬁ[ Pcr-u}z/) :(;J D oree
?l/) Candf,m‘ nde,
B I PFlG) PRIG) pl) t ’/()’L‘;C"gwdmm .
W ~
d j 1 [r&t]

PERIES) piFe6) P65,

P(FH Q'C) ‘yu‘;"( I7ea

_—
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Example: Bayes Spam Filter

Bayes' rule is used several times in the context of spam:

@ Compute the probability that the message is spam, knowing that
a given word appears in this message

@ Compute the probability that the message is spam, taking into
consideration all of its words (or a relevant subset of them)

@ Sometimes a third time, to deal With rare words.

@ Reference: https:
//en.wikipedia.org/wikifNaive ayes_spam_f%

J/v (\'ketlk»/ )

69"\41"‘4(/ Mdepe“da‘@ )

ASSwpro,
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Eqal Prios 4@
Equidl P ostrsy

Bertrand’'s Box Paradox
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, (D elont Ai:-" pk boy (.
Bertrand’'s Box Paradox Ao o
O PAY=Ph)2plhy) = 5 g :

/JZ !ll o 54/‘
; PUBA) =0 ; P(B|A) =~ .
J )20 ;),i 8 5““"‘0 o the box

There are three boxes: M
@ a box containing two gold coins | @ 2hject

@ a box containing two silver coins 2 fostear

@ a box containing one gold coin and a silver coin.

After choosing a box at random and withd;aivingﬂw
random, if that happens to be a gold coin, find the probability of the
next coin drawn_from the same box also being a gold coin.

PA (g) - POk A0

PL@/A) s + 7 (B(AL)- Phv) +PBAy pits)

I3 2
"1 = =
[y+0.3 +23 =~ 2
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Solution

&‘tﬂv ( [ptjy\ ‘I‘f.'m/‘

Condtoval prob
(il ho-d

>

it
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Example

B G ey CGRERY F, LRT AN ZARR N EF: B
5 KR THE, m%ﬁia“/\—- , Bz EzacE)

= WA K, 2 ?”ia:“;&;A;?‘ T EATTAE, E
4’ EP M =T CRTZREAE, 5}’\6‘775_/\'5

T PR AHR E R, mUEELF AR BERL
IRCEAL Ak FRAEI, BREAE BATER, ERAL
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' pPrv>
O event B ="' Tyer ™ the Streee ' | P/ =005

Solution S
Ar 2 fhe cth People sutd I suw a tyert

@ (/Al(g“k»btl . P(ALIB):O‘g J F(AQ]ZC) =ﬂ~/..(’.

C;/'L’ 5 J

Conditiomal .\céjﬂgv.dl-\ce A SSwptian,. pe A 1Ay (B)
(3 Pja )~ PLAIB)-ps
PUAB)18) + pir (8 ) pat

0¥ Xooy

= f’C"‘;ls/.‘pm,/g)

Plhstoty)g)
=PLN 18).

piAs M/Jl/};/;y

0¥< 005 toiSx0qs 922
p (A, lp) pLs)
@ P(E)’/{.,}{L) = P4, J _ 0.6 o
Py | B) 0iB) £ P e |4 pasc ) —
PAIE). Pésir) pg) 03 Xoof

N
PLA'[ﬂ/‘fMJ-M)P[z/ + P(A//KC/’PMZM(‘)’L‘C) M‘r
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Solution

@ PLE{A//LL/A;)

P Aot b, (2D
PlALB) piafs) pits)a) -pig)
PUALL). piA(s) pids (8)pis) +

PANE) s 5 pts (5 puse )
0-3 5 X 0. 00
y - 2
097 X0 2§ + 0T xo 5l

P

))

0.39
——
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Example: Boy or Girl Paradox = G ol
Vet A= ' both Ok (e, ore gy s

o
C— = EL\C fhtlﬂw@)%\xw S ‘95-(/41

-7 (EEG),CCDB)(?
Consider a family that has two children. We are interested in the

children’s genders. r sample space is AcC
{(G,G),(G,B ,QB, G (E,’Ql} where G means girl and B means
boy. Also assume that all four possible outcomes are equally likely.

@ What is the probability that both children are girls given that the
first(elder) child is a girl?

—_— —

| PLAnC) P(A) 4
PLAlC) = ) = pe) S
7F
-4
September 20,2024 4496



Example: Boy or G|r| Paradox

"
event A - et D= At least me Gar”

e 5
= 1G.G),«.8), B.6)]
Consider a family that has two children. We are interested in the
children’s genders. Our sample space is cpD
{(G,G),(G,B),(B,G),(B,B)}, where G means girl and B means
boy. Also assume that all four possible outcomes are equally likely.

@ We ask the father: "Do you have at least one daughter?” He
responds " YesI™ Given this extra information, what is the
probability that both children are girls? In other words, what is
the probability that both children are girls given that we know at

least one of them is a girl? PCA(D) _ PA)  pA)

—

po) o)
i
z "9
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Lli(c(‘.llwg{l
PR (Be) =0 -
P(Q/Bé—) :_71_'}'

PR (&B) = %J

PRIGG) =1 .
Consider a family that has two children. We are interested in the

children’s genders. Our sample space is

{(G,G),(G,B),(B,G),(B,B)}, where G means girl and B means
oy. Also assume that all four possible outcomes are equally likely.

f we randomly ran into one of the two in the shopping mall, and
ee tT;‘cgﬁe_is@FﬁD Given this extra information, what is the
probability that both children are girls? P(&CT//Q) Poster
PRG) « Maw)

(R
PR/ LOTF

Example: Boy or Girl Paradox
-) QJMJCB‘ =+ Cuent
(éatna)_ ( at mee’y»bq
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Solution

Lotp
P(R) = PRIGG) Ata) + pRIGB) pics )

+ PRIBG) PBG) +p.R(8s). piiB)

= /'# +1LZ.Z -f}‘-éf-(}i
4
2

PRIGG) pieg)
> PagR) + — L
PIQ) b =2
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Example: Boy or Girl Paradox €Vet L ( duta)

[ B) = ¢ Pl G = F‘((‘O‘)’ = Ld—a.z
Consider anarlnﬁy)that has two children.&dVe are interested in the

children’s genders. Our sample space is
{(G,G),(G,B),(B,G),(B,B)}, where G means girl and B means
boy. Also assume that all four possible outcomes are equally likely.
o We ask the fatherg“Do you have 4t least one daughter nam\ed
CCatherine?" He replies, " YesI” What is the probability that both
children are girls? In other words, we want to find the probability
that both children are girls, given that the family has at least
one daughter named Catherine. Here we assume that if a child
is a girl, her name will be Catherine with probability o
ingg;;:ndently from other children’s names. If the child is a boy,
his name will not be Catherine. -
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Solution
Dpl) 2 peLiss) pas) + pise) pac)

TP CB) PaB) + pllict ) pleq )

© 0F tdTF ot g e f

- 4d-d°
ZF
PlLice) p .
= peg L) = S i
Pty e (o) 4
. a~—d
T T4y, 0s¥g
els:]
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Bayes' Rule with Extra Conditioning
D =pIE)
TAB) L P AI8E) + PlAlLlE

Theorem

Provided that P(ANE) > 0 and P(BN E) > 0, we have

e AR

PAlB) = Mﬁ‘i
P'3)
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LOTP with Extra Conditioning
() =pl(e)

Theorem

Let Aq,..., A, be a partition of the sample space S (i.e., the A; are

disjoint events and their union is S), with P(A; N E) > 0 for all i.
Then

P(BIE) = 3 P(BIA, E)P(AIE).

i=1

?i) = Z D WBIA)- 5 A )
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Approaches for Finding P(A|B, C)

@ Think of B, C as the single event BN C.
@ Use Bayes' rule with extra conditioning on C.

@ Use Bayes' rule with extra conditioning on B.
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Example: Random Coin 2"y dw
@ Guont A =" the chases in lomds Hew, Tree

1'th>"
H -

v dutl” lnd  leed o, <ne
1‘9‘”‘«’# Tinp '/

Cojvab.,. F o hwa Preked the 'ﬁv\" Lo i
You have one fair coin, and one biased coin which lands Heads with
probability 3/4. You pick one of the coins at random and flip it three
times. It lands Heads all three times. If we toss the coin a fourth
time, what is the probability that it will land Heads once more?

@ P CH (A) Etzf_w:t'\ Extre (0 nditimy
T PLHIFLA)BF(A) tPHIFA) piFsa)

- pc g PCH(EE
2 + F - 4
%2
T o T 2
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Example: Random Coin
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Outline

@ Conditioning As A Problem-Solving Tool
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Example: Laplace's Rule of Succession
D oeny Cp = ' the c¥h (o0 is Selected iy “ Lok

(Bportee)
(1
s Fa= " o fist p fips ad (and on Heads
Lﬁ‘t‘t) 1
dem) H = the Lm—u"”-ﬁ:p lunds o Head

There are k + 1 coins in a . When flipped, the i*" coin will turn
up heads with probability i=0,1,..., k. A coin is randomly
selected from the box andis then repeatedly flipped. If the first n

flips all result in heads, what is the conditional probability that the

(n+ 1) flip will do likewise?
O PHlFr) = ZPHD ) PlaiFa
PCRIC) . p(ce

=, Pl

X
(%)

1

(ng o M‘#
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Solution of Laplace's Rule of Succession

PLCe(Fa) = PFlC) ncr P<Fnlfc)~p¢(;)\‘
PLF’\) éPCFn/Q) PG )

- £,”
/ 4
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Example: Branching Process

A single amoeba, Bobo, lives in a pond. After one minute Bobo will
either die, spw@may the same, with equal
probability, and in subsequent minutes all living amoebas will behave

the same way, independently. What is the probability that the
amoeba population will eventual

Ziyu Shao (ShanghaiTech)
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First-Step Analysis: Branching Process
O ewc o=

8.

b

the populuts. euemm% d'es gut

)

L
gﬂbo twns b 7: a""’ﬁé’éi.s Q{fw
‘e@ f\ﬁt m""“:fc (o

. 20,/ 2
PLEL):é‘
Q@ Pofpo) =1 ;. PLoI8,) = o)

J PLED//?;,)
=Pw) po)
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Example: Gambler’'s Ruin

Two gamblers, A and B, make a sequence of dollar 1 bets. In each
bet, gamability p of winning, and gambler B has
probability g = 1 — p of winning—Gambter A starts with/7)dollars and
gambler B starts with N —7 dollars; the total wealth between the two
remains constant since every time A loses a dollar, the dollar goes to
B, and vice versa. The game ends when either A or B is ruined (run
out of money). What is the probability that A wins the game
(walking away with all the money)?

M

VA

®
/" \
i+1

)

q
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First-Step Analysis: Gambler’s Ruin

O Cuent A= "' A sterts with 2 dollaz”
prb. P = PUA whs [Ac) 5 Po=PlAwnsho) —0,
Pri = plAwns (py) =
@ | S el ;oeent W, =

L :
T A Wins the fuse pee,
PLW.):P«

B = PUA wins (A o
LoTP wrth S =P (Awns A ) ] T
yewm, Cond Eaniy P = Phwns pe) 'M/M/AJ;P(W; [Ac)
T m) PLw (AL Jctpzg)

Pe =Pei-p + [ U—P)i‘<
'_\—/—\——\— ‘CfNA‘
Pozo 5 pyi;

= J

PlAwnifg., )=l
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First-Step Analysis: Gambler's Ruin
Method | -

Pe = PP+ P4 A
Pecptd) = Pip iy
> CPeti-p2 )P = CPe-Pei).g Cfit/
S - = O(Q-‘ . = o~ . 2 |
LP-Py = P =d:. 2 ‘7@70!
F (F)¢
=2 P - LA
N

e
I&/
Solve o,
-4
Ziyu Shao (ShanghaiTech)
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First-Step Analysis: Gambler's Ruin
Aethed 2 - Fee = bfe tafe - o2

~

—  ee—— —— ~—
Choru g, equntas, 2
; - X 2brt @ & two rosts v, ,,

H 17[ r)TF/L S 703 - C‘r/-;‘f"_d__-r]_{

Ff n=r,
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© Pitfalls & Paradoxes
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Simpson’s Paradox

@ A phenomenon in probability and statistics in which a trend
appears in multiple groups of data but disappears or reverses
when the groups are combined

@ Mentioned earlier by Karl Pearson in 1899 & Udny Yule in 1903
e
e Officially proposed by Edward H. Simpson (1922-2019) in 1951

@ Delicate connection between probabilistic reasoning and causal
. -
inference

TR
@ Reference:

https://plato.stanford.edu/entries/paradox-simpson/
_/ﬁf“—‘_\
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Math Behind Simpson's Paradox
vent 4 ' a Successpal fwr}c,y'/
j

c- "

MilCg the < .

P(A|B, C) < P(A|B¢, C
P(A|B, C%) < P(A|B*, C°).

—

A
"#65”747'? a  heart 5;,7117'/

then is it possible that P(A/E) P A (B C)f’@ + PAB C p((/,g)

- P 14 lf/ci )l@m/&/ ){p((f/,

PLcC[B) >>p(cC(89)

T

8 qa Htwf/ __go

Ak o -[:'o';g,? > (w0 =0/
—
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Another Example of Simpson's Paradox

Gender discrimination in college admissions: In_the 1970s, men were
significantly more likely than women to be admitted for graduate
study at the University of California, Berkeley, leading to charges of
gender discrimination. Yet within most individual departments,
women were admitted at a higher rate than men. It was found that
women tended to apply to the departments with more competitive
admissions, while men tended to apply to less competitive
\__/—\/-\_/—

departments.
T~
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Monty Hall Problem
wl el e

On the game show Let's Make a Deal, hosted by Monty Hall, a
contestant chooses one of three closed doors, two of which have a
goat behind them and one of which has a car. Monty, who knows
where the car is, then opens one of the two remaining doors. The
door he opens always has a goat behind it (he never reveals the car!).
If he has a choice, then he picks a door at random with equal
probﬁﬁhﬁﬁ. Monty then offers the contestant the option of
switching to the other unopened door. If the contestant’s goal is to
get the car, should she switch doors?
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Remarks

Erdoe Kunber

@ Even great mathematician Paul Erdos/ & P’er_s:i_@made

mistakes.
@ Originally proposed by Steve Selvin, American Statistician 1975.
_——

@ Famous when proposed in Marilyn vos Savant’'s “Ask Marilyn”
column, Parade magazine 1990. -

° Approximatemmcluding nearly 1000 with PhDs,
said no need to switch.
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Solution of Monty Hall Problem Plagor
e plccs
() Label doors [,2.3 WL OG (

(2)  (oyarre tvent Ci= """ the (o 's bOknd the ;th

Camm
s (7he, 3

PLC) =pLesy :P((;):j’ |

¢ " L
(3). P ’jﬁc a Con ):pcw.\«) :DTTP /7“”«1"/6.)17((,)

T/ e opica

“ TP [ )p (e

° & St 1 )
L t03+0t o1
-3
2% swit Pswxu\c W) n n N
wh) < o 3+ | 3 't'(‘é - 5
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0[09]/‘ //2);

Tree Diagram of Monty Hall Problem —~—~_
v

You Car is Monty Outcome if

choose: behind: opens: you switch:
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Information Conveyed by Monty's Action

dote) Rent M) =" Momty opened the j o1 oo J:lz.d

Wj‘l\'ﬂ‘/‘f) Lent Cf, = Y W TS belw‘wd the ""{'L\ dsor 4 . v~ l.2,3

Lotp
Pmr) = Pumafcopia) tPwma|Co)pica) + P M]3 )pucy )

- 1L €
S 23t 95 o+ 1 =4

—

before Moty open door 2 s PLG)<p(6a)=PG)~ F

A{W_A—/\L 2 PG M, ) = pueama(c, )p) jj 0
Puny) ~— 4 3
Pl ) = PMa(cypus,
Pime)
PCa(m,) = Plivlapg) b,
—\pam‘) = £ = 3
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Outline

@ Reading for Fun
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Setting of Classical Monty Hall Problem

@ Strategies of the contestant: switching & no switching

@ Monty knows the location of the car
o Homogeneous doors

@ Three doors
_— S——
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Variant 1: New Strategy

In this scenario, when Monty has choice on picking the door, he picks
door 2 with probability p, and door 3 with probability 1 — p. Now
besides the strategies of switching and no switching, you (the
contestant) have the third option on your strategy:

@ You first pick the door 1.
@ If the door 2 is opened, you do not switch.

@ If the door 3 is opened, you switch.

What is the winning probability with this strategy?
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Variant 2: Unknown Car Location for Monty

As before, Monty shows you three identical doors. One contains a
car, the other two contain goats. You choose one of the doors but do
not open it. This time, however, Monty does not know the location
of the car. He randomly chooses one of the two doors different from
your selection and opens it. The door turns out to conceal a goat.
He now gives you the options either of sticking with your original
door or switching to the other one. What should you do?
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Variant 3: Partially Known Car Location for Monty

As before, you are shown three equally likely doors. You choose door
one. Monty now points to door two but does not open it. Instead he
merely tells you that it conceals a goat. You know that in those cases
where the car really is behind door one, Monty chooses randomly
between door two and door three. You also know that when the car
is behind door two or door three, it is Monty's intention to identify
the car’s location, but that his assertions regarding the location of
the car are only correct with probability p, What should you do now?
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Variant 4: Heterogeneous Doors

Suppose the car is not placed randomly behind the three doors.
Instead, the car is behind door one with probability p;, behind door
two with probability p,, and behind door three with probability ps.
Here p; + p» + p3s =1 and p; > p>» > p3 > 0. You are to choose one
of the three doors, after which Monty will open a door he knows to
conceal a goat. Monty always chooses randomly from among his
options in those cases where your initial choice is correct. What
strategy should you follow?
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Variant 5: Progressive Monty

This time we assume there are n identical doors, where n is an
integer satisfying n > 3. One door conceals a car, the other n — 1
doors conceal goats. You choose one of the doors at random but do
not open it. Monty then opens a door he knows to conceal a goat,
always choosing randomly among the available doors. At this point
he gives you the option either of sticking with your original door or
switching to one of the remaining doors. You make your decision.
Monty now eliminates another goat-concealing door (at random) and
once more gives you the choice either of sticking or switching. This
process continues until only two doors remain in play. What strategy
should you follow to maximize your chances of winning?
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Variant 6: Two Players

As usual, we are presented with three doors. This time, however,
there is a second player in the game. Player one chooses a door, and
then player two chooses a different door. If both have chosen goats,
then Monty eliminates one of the players at random. If one has
chosen the car, then the other player is eliminated. The surviving
player knows the other has been eliminated, but does not know the
reason for the elimination. After eliminating a player, Monty then
opens that player’s door and gives the surviving player the options of
switching or sticking. What should the player do?
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Variant 7: Two Hosts

As before, we are confronted with three identical doors, one
concealing a car, the other two concealing goats. We initially choose
door one, and Monty then opens door three. This time we know that
there are two different hosts who preside over the show, with a coin
flip deciding who hosts the show on a given night. The two hosts do
not make their decisions in the same way. Coin-Toss Monty chooses
his door randomly when your initial choice conceals the car.
Three-Obsessed Monty always opens door three when he has the
option of doing so. Under these circumstances, is there an advantage
to be gained from switching to door two?
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Variant 8: Many Cars

As before, this time we still have n doors, but now there are
1< j < n-—2carsand n—j goats. After making your initial choice,
Monty opens one of the other doors at random. Should you switch?
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Variant 9: Many Cars

As before, this time we still have n doors, but now there are

1 <j < n—2carsand n—j goats. This time, however, after making
your initial choice, Monty tells us that he will reveal a goat with
probability p, and will reveal a car with probability 1 — p. The catch
is that we must make our decision to stick or switch before knowing
which of these possibilities will come to pass. What should we do?
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Variant 10: Many Cars, Open Many Doors

As before, this time we still have n doors, but now there are

1 <j < n—2carsand n—j goats. This time, however, after making
your initial choice, Monty opens m doors at random, revealing k cars
and m — k goats. What should we do?
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Three Prisoners Problem
W

Three prisoners, A, B and C, are in separate cells and sentenced to
death. The governor has selected one of them at random to be
pardoned. The war@t
allowed to tell. Prisoner A begs the warden to let him know the
identity of one of the others who is going to be executed. “If B is to
be pardoned, give me C's name. If C is to be pardoned, give me B's

. 1] —_— e e D
name. And if I'm to be pardoned, flip a coin to decide whether to
— vr/N - - R
name B or C. T
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Three Prisoners Problem

The warden tells A that B is to be executed. Prisoner A is pleased
because he bmhat‘ﬁiWUWiving has gone up from
1/3to 1/2, as it is now between him and C. Prisoner A secretly tells
C the news, who is also pleased, because he reasons that A still has a
chance of 1/3 to be the pardoned one, but his chance has gone up to
2/3. What is the correct answer?
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Three Prisoners Problem

@ Proposed in Martin Gardner's " Mathematical Games” column,
Scientific American, 1959

@ Mathematically equivalent to the Monty Hall problem

» car: freedom
» goat: death execution
» Monty: warden

@ Very few math problems that have been immortalized in verse
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The Prisoner's Paradox Revisited (Richard Bedient)

Awaiting the dawn sat three prisoners wary

A trio of brigands named Tom, Dick and Mary
Sunrise would signal the death knoll of two

Just one would survive, the question was who.

Young Mary sat thinking and finally spoke

To the jailer she said, “You may think this a joke.
But it seems that my odds of surviving 'til tea,

Are clearly enough just one out of three.
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The Prisoner's Paradox Revisited

But one of my cohorts must certainly go,

Without question, that's something | already know.
Telling the name of one who is lost,

Can't possibly help me. What could it cost?”

That shriveled old jailer himself was no dummy,
He thought, “But why not?” and pointed to Tommy.
“Now it's just Dick and I,” Mary chortled with glee.
“One in two are my chances, and not one in three!”

Imagine the jailer's chagrin, that old elf.
She'd tricked him, or had she? Decide for yourself.
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Summary : Conditional Probability & Inference

Monday

Tuesday

Ziyu Shao (ShanghaiTech)

| Whatcan | ..,:’.,
happen? | ooog

\ [ ]-1:1-]

\ osoo

events numbers

A.B,C P(A)
(Monday’s prior for A)
We learn on Monday
that B occurred. P(A,B) _ P(B|A)P(A)

PAIBY =" =~ By
(Monday’s posterior for A)

EX)
| Whatcan |
/ \ 0000
happen? | oooo
[ 1:1-1-]
A - 1-1]
events numbers
A,B.C P(A|B)
We already know (Tuesday’s prior for A)
that B occurred.
‘We learn on Tuesday P(A|B.C) = %
that C' occurred. (B,0)
_ P(C|A, B)P(A|B)
- PCB)

(Tuesday’s posterior for A)
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